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STATISTICS) 1.0 O O (AVERAGE OR ARITHMETIC MEAN)
2.0 00 (MEDIAN) TO CALCULATE THE MEDIAN OF N
NUMBERSL FIRSTSGROUPSTHE NUMBERS FROM LEAST
TO GREATESTU IFN ISODDO THE MEDIAN IS DEFINED AS
THE MIDDLE NUMBERO WHILE IF N ISEVENLO THE
MEDIAN IS DEFINED AS THE AVERAGE OF THE TWO
MIDDLE NUMBERS. FOR THE DATA®6, 4,7, 10,4, THE
NUMBERS, IN ORDER, ARE 4, 4,6, 7,10, AND THE MEDIAN
IS 6, THE MIDDLE NUMBER. FOR THE NUMBERS 4, 6, 6, 8, 9,
12, THE MEDIAN IS (6 8)/2=7. NOTE THAT THE MEAN OF
THESE NUMBERSIS75. 3.0 0 (MODE) U0 OO O0OOOO
Do0o00o0oo0ono 0odTHEMODEOF 7090 60 70 2
O11S70 400 (RANGE) D OO OO0 OoOO0ooooodo
DO000000000 O0THERANGE OF10 70 270 27
[1361S36-(-1)=370 5.0 O O O (STANDARD DEVIATION)
ONE OF THE MOST COMMON MEASURES OF DISPERSION
ISTHE STANDARD DEVIATION. GENERALLY SPEAKING,
THE GREATER THE DATA ARE SPREAD AWAY FROM THE
MEAN, THE GREATER THE STANDARD DEVIATION. THE
STANDARD DEVIATION OF N NUMBERS CAN BE
CALCULATED ASFOLLOWS: (1)FIND THE ARITHMETIC
MEAN . (2)FIND THE DIFFERENCES BETWEEN THE MEAN



AND EACH OF THE N NUMBERS . (3)SQUARE EACH OF
THE DIFFERENCES . (4)FIND THE AVERAGE OF THE
SQUARED DIFFERENCES . (5)TAKE THE NONNEGATIVE
SQUARE ROOT OF THIS AVERAGE. NOTICE THAT THE
STANDARD DEVIATION DEPENDS ON EVERY DATA
VALUE, ALTHOUGH IT DEPENDS MOST ON VALUES THAT
ARE FARTHEST FROM THE MEAN. THIS ISWHY A
DISTRIBUTION WITH DATA GROUPED CLOSELY AROUND
THE MEAN WILL HAVE A SMALLER STANDARD
DEVIATION THAN DATA SPREAD FAR FROM THE MEAN.
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